Volume and Surface Area of Prisms

(\

s REVISE THIS
1S T

1 The cross section of a prism is a right-angled triangle.

Not drawn
accurately
5cm
1(@) Work out the volume of the prism. [3 marks]

-l?_"xl?_)(5= Oewm*
20 x (0= 300 um>

Answer ’5 OO cm?3

1(b) Work out the surface area of the prism. [4 marks]

Y2 x 12X 5= A0um*
V1 x 12X 5= A0 oum?* 10+ 30 + 110

I0x |12 = 110" +S0 +120
10 x § = SOUN\.L - 560
10X (3 = 30w’

Answer ‘3 6 O

cm?
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2 The cross section of a prism is a right-angled triangle.

8 cm

6 cm

2 (a) Work out the volume of the prism.

|/1_X BX%‘—' 2“’%1
W x S = 1QJOUN\3

Answer ’SQ) O

2 (b) Work out the surface area of the prism.

k;,x BX% = 2h-um1'
'/-;_x BX% = 2'-l't:m1
6% (S = 90 am”
XIS = (W aum?
LOXIS = IS0 um®

1 4244 90 + 1204 (SO =

Answer '+O g
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4L0g
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3 The cross section of a prism is an isosceles triangle.
5cm
4icm
7cm
6 cm
3(a) Work out the volume of the prism.

“2x 6 x4 = [ 2um?
2% 3} =8 om”

Answer % L\-

3 (b) Work out the surface area of the prism.

2 x b x4 = 1 2umt
2 x b x4 = 1 2um?
6XF = Glamt
FXS = LSt
FXS = S wmnt

L+ 1L +42 £33 x5 =136
Answer \ge
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[4 marks]

cm?2
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4 The cross section of a prism is a trapezium. Not drawn
accurately
12 cm
5cm
/ 4 cm \
9cm
18 cm
4 (a) Work out the volume of the prism. [3 marks]

/211 +18) x b= GOum®
60 x 942 94D un?

Answer S L\' O cm?3

4 (b) Work out the surface area of the prism. [4 marks]

/2L £18) x b= G0um™
72\ +18) x k= GOum®
A9X 5 =4S um?
A9X 5 =4S um?
Ax18 = 6L am”
Q% 1L= (OFom
00+ 60 +45 445 + (62 +103 = 4%0

Answer L\' 8 0 cm?
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5 The cross section of a prism is made from two rectangles.
Not drawn
3em accurately
Iowm
< —
10 cm A N 5cm
)
| R
|
| 8cm
14 cm
Work out the volume of the prism. [4 marks]

A:‘.SX\O;EOWV\I
B: IxS = 55 um?

W+9S5= S om”
8Sx = 630 un’

Answer Q g 0 cm3
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6 The cross section of a prism is a right-angled triangle.
Not drawn
accurately
12 cm
8cm
The volume of the prism = 696 cm?3
Work out the value of I, the length of the prism. [3 marks]

V2 x 8% 1L = B gm?
696 + Y{ = I4-5

- 1% 5 o

www. 1stclassmaths.com © 2024 1stclassmaths



http://www.1stclassmaths.com/

u m r@ @1stclassmaths

Prism A, Prism B and Prism C all have the same volume

Complete the table. [4 marks]
Prism A Prism B Prism C
C (X
Sectiorr?;ISArea 24 cm? 20CVV\ 40 cm?
Length 15cm 18 cm cl cwm
Y
voume | 360cm” | 360cm” | J60cm
8 The cross section of a prism is a right-angled triangle
hcm
The prism has a volume of 162 cm3
Work out the value of h, the height of the right-angled triangle [3 marks]
6L =12 = 13-5
2 x 6x W
71 x b x 13- S
22 Q h = | 3 S ) +3
h= L" i S cm .
10
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8

The cross section of a prism is made from three rectangles.

5cm
4 cm
10 cm A 3cm C 6.5cm
35, B
) F 8 cm

12 cm

A: 10X S = SOum”
B: FXxL5=24-Som*
C: 44X 3% = 12am"

[5 marks]

SO+24S + 11 = %65
265 x 8 = 6910

N % VA

cm?3
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10

10 (a)

10 (b)

The cross section of a prism is a pentagon with one line of symmetry.

Not drawn
accurately
5cm
16 cm
Work out the volume of the prism. [4 marks]

A: loXxS = um”
RB: “2xlo x6 = 4R am*
20 + 49 = \2%um™

128 X 15= 1920
Answer \120 o

Work out the surface area of the prism. [4 marks]

ISx S=3S
|ISx S= 3FS

IS x(6=150
IS xlo= 150
|6 X (5= 240
S 43S+ |50 4150 +240 + 128+12%

Answer q L‘- 6 cm?
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11 The cross section of a prism is a regular pentagon.

Not drawn
accurately

11 cm

The volume of the prism = 9368 cm?3

Work out the total surface area of the prism.
Give your answer to 4 significant figures. [4 marks]

92768 = 45= 20%- 17...

ks xi(= 495
Y95 x 5= 2435

T4 35S + 108-13...+ 20217 ...
= 1391.35S...

Answer 2 g C‘ l cm?

>
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